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QUESTION 1
Which of the following BEST illustrates the engineering approach for work done Within SRE?

A. An SRE is rapidly coding a solution to automate a daily tuning activity byfollowing a set Of best practices and
principles.

B. An SRE is designing a solution to eliminate toil and scale up servicedelivery by learningfrom other successful
solutions.

C. An SRE is deploying a solution using an end-to-end pipeline that has been carefully analyzedfromthe start.

D. An SRE is resolving anincident as quickly as possible using a well- designedimplemented process and knowledge
base

Correct Answer: A

QUESTION 2

Microservices are independent services that are developed deployed, and maintained separate.
Which of the following BEST justifies the use of this application architecture?

A. Modernizing and refactoring legacy applications

B. Modernizing the user interface of the core system

C. Creating a simple, lightweight business application

D. Building a basic product, fast, as a proof of concept

Correct Answer: C

QUESTION 3

Which of me following BEST defines a service level indicator (SLI)?

A. A subjective measure of the consequences if the level of service is not achieved

B. A subjective assessment of the performance aspects of the level of service required
C. A quantitative target value for aspects of the level of service that are provided

D. A quantitative measure of some aspect of the level of service that is provided

Correct Answer: D
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QUESTION 4
Which TWO of the following are BEST described as traditional escalation paths?
1.

Functional
2.

Hierarchical
3.

Cyclical
4.

Logical
A.land?2
B.2and3
C.3and 4
D.land 4

Correct Answer: A

QUESTION 5

Which of the following BEST explains now an error budget allows for a maximum change velocity?
A. Developers can focus on pushing out feature changes unite the error budget remains high.

B. Developers must slow down feature changes in line with the percentage the budget is used.

C. Developers focus only on new feature work versus operational work if the budget is empty.

D. Developers rush to do development work if me budget is high and stow down when it is low.

Correct Answer: A
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